FH2AFERBASHHREBIER

(BfE:FH)
::J%r 3 A ﬁ 3 H
2 % % e FHBBLRE | RERBEIRT | § = " . FERBELRE | REBREEICHT
® THRE | ARE groww  |swpmacen | % * TEEE | AFE lgronm  |pWpmiao
| EREERRE 1,591,791 1,611,781 19,990 26.8 1.4 % & 37,876 36,634 1,242 0.6
2. B E X & £ 1,495,337 1,487,317 A8,020 24.7 2. R KR B O B 3,675,864 3,621,409 54,455 62.0
3. BERNTESERGE 326,664 350,916 24,252 5.8 3. BUEHEXIESSE 909,256 909,255 1 15.6
4 . FiiEEHmERMNE 885,110 885,111 1 14.7 4 FpifiEEEMNTESE 987 986 1 0.0
E 5. 82 X H £ 339,438 354,962 15,524 5.9 E 5. ZARBERLE S 76 75 1 0.0
g 6. HREXXMTE 589,115 594,432 5317 9.9 g 6.9 £ WM T & 416,842 416,842 0 7.1
@ 7.8 E I A 163 163 0 0.0 @ T EEEENE S 634,866 598,409 36,457 10.2
ET 8. & A & 493,746 490,293 A3453 8.1 Eﬁ 8. R B = 3 B 29,033 28,567 466 0.5
P Py
Hlo.om @ @ 228,611 228,610 AT 38| o2 & ¥ % & 128,775 128,774 1 22
10 . 3% IR A 10,198 17,408 7,210 0.3 10 . & & & 494 0 494 0.0
MmN X & 2 106,121 104,804 1,317 1.8
12 . % i & 19,983 0 19,983 0.0
m A B & 5,960,173 6,020,993 60,820 100.0 A R S 5,960,173 5,845,755 114,418 100.0
? I3 A E: % H
2 % N FEBBERE [ RERECAT | & & " o TERAALRE | REREEICHT
= TRRE | R lmrons | 2EmEA%) x TRRE | REE artopm | 2@mEace
1. 2EERUVEES 5311 5,808 497 0.8 1. T KEE%X%8B 417,393 404,738 12,655 56.6
2  FHAERUFHE 292,185 302,732 10,547 410 2.4 & & 310,388 309,854 534 434
T T
K|S BH E X € 36,000 36,000 0 49 XK | 3. % & -y 1,000 0 1,000 0.0
E B
£ |4. 18 A & 328,146 328,146 0 445 =
* *
¥ 5. @ i o 15,174 15,175 1 20| #
Al Al
;:E 6. % Iz A 3,365 5,185 1,820 0.7 j:é
7.1 & 48,600 44,800 A3,800 6.1
m A # % 728,781 737,846 9,065 100.0 m OB K % 728,781 714,592 14,189 100.0




(AL FH)

;% I3 A ;% I3 H
y . emgs | FPERBERE [RABHACNT | & . . wmez | FERBERE [RAGECHT
. THREE | MR arops | 2#mEIa06) * PHRE | KR mioiws | 2#EA%)
1.8 (53 #l 472,000 479,159 7,159 25.1 1.4 % = 29,509 28,042 1,467 15
2. pEERVAES 1,260 455 A805 0.0 2.2 B B O Z 1,732,355 1,658,241 74114 90.6
. ERABERUFEHH 1 0 A1 0.0 .M TEBEEEER 30,306 20,941 9,365 1.2
2 4. B E X H £ 327,062 310,002 A17,060 16.3 2 4. H5 £ & 11 £ 88,612 88,611 1 48
ﬁ 5. X E XL 487,008 488,473 1,465 256 ﬁ‘ 5.8 X H £ 35,305 35,054 251 1.9
gﬁ 6.8 b3 H il 277,286 276,751 A535 145 [‘é 6.% & E=4 1,000 0 1,000 0.0
|
g 7.8 E W A 1,585 1,585 0 0.1 A“
Tle. @ A & 244,798 244,370 A428 128] °
9. 4 2 & 106,081 106,081 0 5.6
10 . % Iz A 6 119 113 0.0
B A # % 1,917,087 1,906,995 A10,092 100.0 B o & % 1,917,087 1,830,889 86,198 100.0
= % A = % H
it B
% = N FHRBLRE |RELBEISHT | g % N FHBERBEERE |REBREEICKT
&% FERE | REE |G lowm | aEmEIA%) & FHRE | REE  |\amlonm | HEES00)
g 1. #HEHEERRERH 187,305 188,809 1,504 76.3 Lif 1.8 % & 9,695 9,434 261 39
& 5 Bl aHeBzER
E%: 2. # A % 54,927 54,927 0 22.2 ﬁg 2. E s it e 234,385 234,385 0 95.4
% 3.4 24 & 1,697 1,698 1 0.7 % 3. X H # 1,784 1,670 114 0.7
ET 4. % i A 2,235 2123 A112 08 E 4. % & # 300 0 300 0.0
Py D
= m A B B8 246,164 247,557 1,393 1000f 25 moH R E 246,164 245,489 675 100.0




(AL FH)

_ & A _ # b

j % = b FERFELRE |REHLRFEICHT p x % . FEREZLRE [AEHREEICHT
: FHRE | REE  |glohe | aEREae o * TEEE | RFE  mrows | |smmEace

2 @ A % 1183 1177 IN: 10 o |12 % AR KT 160,383 122,953 37.430 100.0

Q * j; g% s X8

A A

i W & 159,200 121,776 A37,424 99.0| 3y

Hy R

& =

=S =

E S E

% 27

Al il

2 2

H m A & % 160,383 122,953 A37,430 100.0| & mOH & o#m 160,383 122,953 37,430 100.0




